Functions

Robert Marik
July 23, 2006

Look at three or four or twenty my quizzes and
then fill in my please!
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Quiz

The function on the picture ...
1....
2....
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True
False

is defined on R.
is undefined and continuous at x = 0.

. has a discontinuity at x = 0.
. is continuous on the set (—co,0) U (0, c0).

. is bounded above.

. is bounded below on (1, c0).

. is decreasing on (—oo,1).

. isincreasing on (1,2).

. is continuous and increasing on (0, c).

.. is decreasing on (0,1).
11. ...
12....

possesses three local minima.
possesses one local maximum.

13

16. ...
17. ...

18. ...
19. ...

True
False

. possesses no point of inflection.

14. ...
interval (1,2).

15. ...

possesses two point of inflection on the
possesses one point of inflection on (0, 1).

is concave down on (—o0,0).
satisfies lim f(x) = —oo.
X——00
satisfies lirrbf(x) = —oo.
X—

satisfies Yhn(}of(x) = oo.
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Quiz

The function on the picture ...
1....
. has one point of discontinuity.

P OD

12. ...

© ® No o

True

is defined on R.

. is not one-to-one on RR.

. is odd.

. is even.

. is continuous on RR.

. possesses three local extrema.

. possesses a unique local extremum.

. is increasing on (0,2).

11. ... possesses no local extremum on (0,2).

is concave up on (0,2).
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False

. is one-to-one and decreasing on (2, ).

13....
14. ...

15. ...

16. ...

17. ...
18. ...
19. ...

True
False

possesses two points of inflection.
possesses three points of inflection.

possesses no point of inflection on (0,2).
possesses no point of inflection on (1,3).

satisfies lim f(x) = 0.
X——00

satisfies lir%f(x) = +oo.
X—

possesses no derivative at x = 2.
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Quiz

The function on the picture ...
1....
. possesses one point of discontinuity.

True

is well-defined on R.

. possesses two points of discontinuity.

. is even.

. is odd.

. possesses four local extrema.

. possesses two local extrema.

. possesses no local extremum.

. possesses one point of inflection.

. possesses three points of inflection.

. isincreasing on (—1,1).

. is increasing on (1, o).

X y

False

13. ... is concave up on the intervals (—oo, —1)
and (0,1) and concave down on the intervals
(—=1,0) and (1, o).

14. ... is one-to-one on (—1,1).
15. ... possesses no limit at x = 1.
16. ... satisfies lir?‘ f(x) =0.

X—

17. ... satisfies lim1 f(x) = +oo.
o=l

18. ... possesses no stationary point (a point with
vanishing derivative).

19. ... is bounded below on (0, 1).

. |
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Quiz

The function on the picture ...
1....
. possesses one point of discontinuity.

True

is well-defined on R.

. possesses three points of discontinuity.

. is even.

. is odd.

. has unique x-intercept.

. has unique y-intercept.

. is bounded below.

. is bounded below on (0, 1).
. is bounded on (0,1).

. is bounded on (1, ).

. is one-to-one on (—co,0).

False

19. ...
20. ...
21....
22. ...

24. ...
25. ...
26. ...
27. ...
28. ...
29. .

30. ...
31....
32....
33....

True
False

. is one-to-one on (0, ).

. is one-to-one.

. possesses one local extremum.
. possesses one local maximum.
. possesses one local minimum.
. is increasing on (—oo,0).

is increasing on (2, c0).

is decreasing at x = 0.

is increasing at x = 1.

is increasing at x = 3.

. isiincreasing at x = 4.

is continuous at x = 1.

satisfies Ylimlf(x) =0.
satisfies ,l(ig(l)f(x) = oo.
satisfies xgrzmcof(x) =0.
satisfies lim f(x) = 0.

. possesses no stationary point (a point with
vanlshlng derivative).

possesses one point of inflection.
is concave up on (1,0)

is concace up on (2,4)
isconcave up at x =1
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Quiz

YA

The function on the picture ...

. is bounded below on (1,
. is one-to-one.

. is well-defined on RR.

. is even.

. is odd.

. has unique x-intercept.
. has unique y-intercept.
. is bounded below.

. is bounded below on (0, 1).
. is bounded on (0,1).
. is bounded above on (1,

).
).

True

. possesses one point of discontinuity.

False

13. ...

14. ...
mum.

15. ...
16. ...
17. ...
18. ...
19. ...
20. ...
21. ...
22. ...
23..

27. ...

28. ...
29. ...

°
g
possesses one local extremum.
has neither local maximum nor local mini-
is increasing on (—co, —1).
is increasing (on R).
is continuous at x = 1.
is continuous (on R).
satisfies lim]f(x) =0.
Fe=s=
satisfies lirrbf(x) =0.
X—
satisfies lim f(x) = 0.
X——00
satisfies lim f(x) = oo.
. possesses no stationary point (a point with

vanlshlng derivative).
24. ...
25. ...
26. ...

possesses one point of inflection.
possesses two points of inflection.
possesses three points of inflection.

is concave down on (—1,1)
is concave up on (1, o)
isconcave upatx =1
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